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—. (5 5) BEREEE_SE k HENTHE o(x) S WEEERNT HRHEY &

(z) = kz? -1 -3 <x <3,
I 0 e
oL RE XY BRFEEEN. MRGHPEE B(Y(X) =X 8 BX|Y) =0, #R:

1. (5 4) 85 P(X = 0) =7
2. (5 4) BB PX =1) =7

=. (5%4) R Ak B SEFH{F (mutually exclusive event), dEE3 A° & B° 4315
AR B IR (complement), FREEfriE P(ASJAL B) =?

M, 4 N 85—IR{E Poisson()\) MWHERSBE. 5 (X1, X, ..., Xvs1) B—#2%E Bernoulli(p)
R, B {0} % N BEEY. 4 Sea= Dl XoBRE |

L. (57) HRLAfE E(Sn+1)

2. (5 7) BRY Var(Sys1)

()

e Poisson (A): f(z)=£22%, z=0,1,2,...

ER

e Bernoulli (p): f(z) =p*(1—p)!2, z=0,1

A EHREHER W, W, W, BIRE-EERE Ny, 1) 288, X4 4 SR0ae
25 B () REFRERBEARNZRBEETREETY: o) =P(Z <o), HF Z B
¥ ZRERES (Standard Normal Random Variable).

1. (10 ) 2% ¢ = P(W1 > k), b k SCARHE. RUSEEE W, W,,. W, ¥
q FIBREELHEER (Maximum Likelihood Estimator), 4.
2. (10 77) WM n(d — g) WERDE (Asymptotic Distribution).

(] EaAmE, ERARTHmEE.

s Invariance Property:
If # is the Maximum Likelihood Estimator (MLE) of 7 and u = u(r),
then the MLE of v is &t = u(F).

¢ Deite Mehod:
If /n(X, - 2, N(0,0%) and ¥, = ¢(X,), where ¢{-) is cintinuously
differentiable at 8, then

V(¥ — c(8)) 5 N0, € (8)%%).
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~ (15 )RS B EER RIS ¢ ¥, =a+ AX;+ £, * LL OLS (ordinary least squares)

A

(15 X, X,, X, 3RIRRBRAREEEEE ST - SBEac I EHERED >
BEESEABT > ETEESIE 4. 1. 4 BEBRBUSERGE
o) =0l=0; =0") BERTIBESENS : y=apy +au +ay, » Z
a,, a,, a, BIHER - FHEEME ¢ 0 B X, X,, X, PR3, 0y, 1y
BHEZ - 1 44, 4y, o, FIBRAPEHRB X, X, X, » BHERBETII
g
() FERIUNTRE o] = 0] = of (WABHRE HER LB RIEEAETE)-
(2) FEBRBAAERERR T - SHEL(S1E{R B (confidence coefficient)1 - a 7k

T pBI{SFEE El(confidence interval(MERHIHEERE - HEEREL
FEHD

{EEHERMEEIG G, f BT, Sk

() fHpLRIREE - ) QT EEY, | X LR -

(3) F e, PSRBT —MIBEEEEREIV (6) = o) B f 2 B8Em ?
BRI ET B 2 s Rey 2

(20 s RE BB R B EER A 20T
Inm, = B+ B, I(GDP)+ B,r, + ¢, »

Hehm, BEEREHEE B (quantity of real money) - GDP B EBIN 4+ EE
o R REBEANE  BEHEERA =12 f=-002 5, =01
S; =002 R*=0.89 > T=36 » SREZ FHIRE :
(1) # GDP [ 10 JRIEINZE 102 Jk - mERBEIE BT ? GERILEME)
(2) FEFEEH 4%IEHNE 5% - Blm (EF2EIE B ? GESHEUE)
C)RMBEH, : B =1 vs. H,:p, = 1ERE - FETH P-value -
) EFREH, :p =15, =0 vs. H:1HAEE  EAYTHIE ?
(5) BAEEIRE m, =, + o, GDR, +a,r, +V, + EAER EETVERTR -
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